
Multiplying Exponents (I)

Simplify each expression.

1. 39 · 35 2. 4−6 · 40

3. (−9)9 · (−9)−7 4. (−4)8 · (−4)7

5. 42 · 47 6. (−6)5 · (−6)−8

7. (−3)−4 · (−3)−5 8. 38 · 38

9. 80 · 8−7 10. 69 · 61
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Multiplying Exponents (I) Answers

Simplify each expression.

1. 39 · 35

= 314

2. 4−6 · 40

= 4−6 =
1

46

3. (−9)9 · (−9)−7

= (−9)2

4. (−4)8 · (−4)7

= (−4)15

5. 42 · 47

= 49

6. (−6)5 · (−6)−8

= (−6)−3 =
1

(−6)3

7. (−3)−4 · (−3)−5

= (−3)−9 =
1

(−3)9

8. 38 · 38

= 316

9. 80 · 8−7

= 8−7 =
1

87

10. 69 · 61

= 610
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